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Question Number : 1 Question Id : 3271673660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Glycogen is the storage form of in the body.

Options:
| # protein



o o carbohydrates
4 % vVitamins

Question Number : 1 Question Id : 3271673660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 2 Question Id : 3271673661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Rothera's Test is used to identify the presence of:
Options:

1 « Ketone bodies

> w Bile pigments

= % Glucose

4 % Amino acids

Question Number : 2 Question Id : 3271673661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 3 Question Id : 3271673662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Vasopressin is a hormone secreted by the:
Options:

, = Anterior Pituitary



5 of Posterior Pituitary

% % Adrenal Glands

4 % Thyroid Glands

Question Number : 3 Question Id : 3271673662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 4 Question Id : 3271673663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The order written by a physician. dentist or any other registered medical practitioner to the
patient is known as:

Options:

, % Inscription

5 o Prescription
- % Subscription

4 % Superscription

Question Number : 4 Question Id : 3271673663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 5 Question Id : 3271673664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



The unit for specific gravity is:
Options:
, » mg/ml

> % /L

5 « It 1s unitless

4 % ml/gm

Question Number : 5 Question Id : 3271673664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
, = mg/ml

5 % gmiL

4 = mligm

Question Number : 6 Question Id : 3271673665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which semisolid preparation is meant for external application to the
skin?

Options:

1 % Tablet

- % Capsule

= « Ointments
4 % Powder

Question Number : 6 Question Id : 3271673665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 7 Question Id : 3271673666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
Iodine levels in the body are regulated by:

Options:
1 % Insulin

> % Glucagon

5 o Ihyroxine

4 % Aldosterone

Question Number : 7 Question Id : 3271673666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 8 Question Id : 3271673667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ECG checks the functioning of in body.

Options:
1 % lungs
» w liver

5 » kidney

4 + heart

Question Number : 8 Question Id : 3271673667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 9 Question Id : 3271673668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
Inulin is a polysaccharide that is used to check the function of the:

Options:
1+« Glomerulus

> % Neurons

- % Hepatic cells

4 % Blood

Question Number : 9 Question Id : 3271673668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 10 Question Id : 3271673669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Homeogenous mixture of a solute and a solvent is called:
Options:

1 % Emulsion

> % Suspension

z « Solution

, % Electrolyte

Question Number : 10 Question Id : 3271673669 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 11 Question Id : 3271673670 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The professional grooming of the finger nails is known as:

Options:
1 % Pedicure
> « Manicure

5 % Lacquers

, w Elongators

Question Number : 11 Question Id : 3271673670 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 12 Question Id : 3271673671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following preparations is meant for cleansing hair of

dust. grime. crust and to impart lustre and gloss?
Options:
, % Hairdye

o  Shampoo
5 % Hair straighteners
, » Hair gels

Question Number : 12 Question Id : 3271673671 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 13 Question Id : 3271673672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

When the tablet is crushed. the surface area occupied by the particles
is:

Options:

1 « Increased

- % Decreased

- % Doesnot change

, % Cannot be predicted

Question Number : 13 Question Id : 3271673672 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 14 Question Id : 3271673673 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Inhaler is the equipment used against:
Options:

1 « Infections in nose

- % Infections in eye

- % Both eye and nasal infections

4 % Skin infections

Question Number : 14 Question Id : 3271673673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 15 Question Id : 3271673674 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The branch of medicine that deals with the heart is called:
Options:

, % Ophthalmology

- % Gynaecology
- % Diabetology

4 « Cardiology

Question Number : 15 Question Id : 3271673674 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

BT T TetaT AT arar #3397 FEa 27

Options:

Question Number : 16 Question Id : 3271673675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Proteins are made up of:
Options:

1+« Amino acids

- % Fatty acids

- » Aliphatic acids

4 % Aromatic acids

Question Number : 16 Question Id : 3271673675 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 17 Question Id : 3271673676 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of these has the highest calorific value?

Options:
1 % Proteins

o  Lipids
5 % Vitamins
4 % Minerals

Question Number : 17 Question Id : 3271673676 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 18 Question Id : 3271673677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
is used as an anti-coagulant.

Options:
1 % Albumin

> % Cephalin

%z % Globulin

4  Heparin

Question Number : 18 Question Id : 3271673677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 19 Question Id : 3271673678 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The cream meant for winter season is;
Options:

= Cleansing cream

> « Cold Cream

5 % Massage Cream

4 % Make-up Cream

Question Number : 19 Question Id : 3271673678 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 20 Question Id : 3271673679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Hypoxia is a term used to indicate the reduced level of:

Options:
, % Hemoglobin
> % Heparm

5 Oxygen

4 % Blood Pressure

Question Number : 20 Question Id : 3271673679 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 21 Question Id : 3271673680 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which organelle is called the Power House of the cell?

Options:
1 # Nucleus
> % Ribosomes

- % Cytoplasm

4 + Mitochondria

Question Number : 21 Question Id : 3271673680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 22 Question Id : 3271673681 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
When a substance exists in more than one crystalline form. it is known as:

Options:
, % Crystallisation

o  Polymorphism
- % Amorphism

, % Enantiotropy

Question Number : 22 Question Id : 3271673681 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 23 Question Id : 3271673682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
test 1s used to detect bile salts in urine.

Options:
1 % Benedict’s

> w Fehling’s
=z % Fouchet’s

4 v HAY's

Question Number : 23 Question Id : 3271673682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 24 Question Id : 3271673683 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which is the largest joint in the body?
Options:

1 « Knee Joint

- % Pelvic Joint
= % Shoulder Joint
4 % Neck Joint

Question Number : 24 Question Id : 3271673683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 25 Question Id : 3271673684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Allergies are associated with which Immunoglobulin?

Options:
1 A

2.33':1
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Question Number : 25 Question Id : 3271673684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 26 Question Id : 3271673685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A substance that maintains the pH within a definite range is called a/an:

Options:

, w Anti-coagulant
> « Buffer

- % Synovial fluid
4 % Blood

Question Number : 26 Question Id : 3271673685 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 27 Question Id : 3271673686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is the art and science of preparing and dispensing medications

and provides provision for giving drug-related information to the public is called?
Options:
, % Philosophy

-  Pharmacy
- » Physiotherapy

4 % Nursing

Question Number : 27 Question Id : 3271673686 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 28 Question Id : 3271673687 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which process is used to destroy or eliminate viable microorganisms

that may be present in or on a particular product or package?

Options:
1 % DBacteriostatic

- « Sterilization
5 w Aseptic

4 % Bactericide



Question Number : 28 Question Id : 3271673687 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 29 Question Id : 3271673688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Jaundice is caused by elevated levels of:
Options:

1 % Bile salts

-  Bile pigments

- » Angiotensin

4 % Hemoglobin

Question Number : 29 Question Id : 3271673688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 30 Question Id : 3271673689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the correct one from the following statements.
Options:

, % Antibiotic use can be discontinued before course completion.

- % Expired drugs can be used.

- » Antibiotics can be bought without prescription.

4 « Self-medication should be avoided.



Question Number : 30 Question Id : 3271673689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 31 Question Id : 3271673690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Anaemia is associated with deficiency of:
Options:

, « Hemoglobin

> % Globulin
= % Calcium

4 % Retinol

Question Number : 31 Question Id : 3271673690 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 32 Question Id : 3271673691 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Sublimation is the process where:

Options:
, = solid changes into liquid form.

-  solid changes into vapor form.

- % liquid changes into vapor form.



, % Vapor changes into liquid form.

Question Number : 32 Question Id : 3271673691 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 33 Question Id : 3271673692 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Pineal gland secretes:

Options:
1 % Melanin

- % Myoglobin
- w Fibrinogen
4 « Melatonin

Question Number : 33 Question Id : 3271673692 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 34 Question Id : 3271673693 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following is not a source for medicine?
Options:

1 % Plants

> % Fish oils

= % Marine sources



4 « Cellulose

Question Number : 34 Question Id : 3271673693 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 35 Question Id : 3271673694 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Ammonia is synthesized by the:
Options:

1 # Stomach

o  Kidney

z % Muscles
4 % Skin

Question Number : 35 Question Id : 3271673694 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 36 Question Id : 3271673695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Hyperkalemia indicates excess levels of:

Options:
1 % Sodium

> « Potassium

3z % Calcium



4 % Retinol

Question Number : 36 Question Id : 3271673695 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 37 Question Id : 3271673696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Can a child of 5 years be given the same medicine as that of an adult?

Options:
1 ® Yes

2 « No

- % Disease dependent

, % Gender dependent

Question Number : 37 Question Id : 3271673696 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 38 Question Id : 3271673697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which is the Master Endocrine Gland of the body?

Options:
, % Thyroid

-  Pituitary
= % Pancreas

4 % Adrenal



Question Number : 38 Question Id : 3271673697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

1 = 2“3“ Hg.

Question Number : 39 Question Id : 3271673698 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Calculate the weight of 1litre of alcohol whose density is 0.816 gm/ml.

Options:
|« Sl6gm

5 % 16.36 gm

5 % 3.16 gm
4 % 31.6 gm

Question Number : 39 Question Id : 3271673698 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

, « 816 gm

- » 16.36 gm
5 » 8.16 gm
4 » 81.6 gm

Question Number : 40 Question Id : 3271673699 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The hormone that regulates mineral levels in the body is:

Options:
1 # Testosterone

5 % Estrogen
5 % Progesterone

4 « Aldosterone
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 41 Question Id : 3271673700 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
For consuming medicine orally. the elder patients will prefer:

Options:
1 % Tablets

- u Capsules

-  Tlablets dissolving in water

4 % Syrups

Question Number : 41 Question Id : 3271673700 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 42 Question Id : 3271673701 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The total energy of a system plus its surroundings:

Options:
e d Remains constant

- % Is variable

- % Is climate dependent

4 % Increases and then decreases



Question Number : 42 Question Id : 3271673701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 43 Question Id : 3271673702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Gastric diseases are those which are related to:
Options:

1 « Stomach

- % Intestine

5 % Lungs

4 % Liver

Question Number : 43 Question Id : 3271673702 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 44 Question Id : 3271673703 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Pulmonology deals with the study of:

Options:
1 ® DBomnes

> % Mouth

5 Lungs

4 = Kidney



Question Number : 44 Question Id : 3271673703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 45 Question Id : 3271673704 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Red blood cells require for their synthesis.

Options:
L ® potassium

> % sodium
= % Copper
4 + lron

Question Number : 45 Question Id : 3271673704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 46 Question Id : 3271673705 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Myoglobin binds to mole of Oxygen per molecule.

Options:



Question Number : 46 Question Id : 3271673705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
1. ¢ 1

2%-32
3&53
4 % 4

Question Number : 47 Question Id : 3271673706 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Renal calculi is NOT associated with:
Options:

1 % Purines

-  Pyrimidine
z % Calcium
, % Phosphates

Question Number : 47 Question Id : 3271673706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

Question Number : 48 Question Id : 3271673707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
1s caused by the storage and surplus of energy.

Options:

1 % Diabetes
o o Obesity
=z % Jaundice

4 % Migraine



Question Number : 48 Question Id : 3271673707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 49 Question Id : 3271673708 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Hemoglobin synthesis requires:
Options:

1 % Iron and Calcium

> % Iron and Zinc

5 % Ironand Magnesium

4  Iron and Copper

Question Number : 49 Question Id : 3271673708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 50 Question Id : 3271673709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which one of the following is not a symptom of Diabetes Insipidus?

Options:
, w» Polyuria

> % Excessive thirst
-, » Fatigue

4  Hepatitis



Question Number : 50 Question Id : 3271673709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 51 Question Id : 3271673710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Of the total body weight, percentage of water present in an average body is:

Options:

1 % 40-50
> % 50 -60
3 o 60 -70
4 ® 70 -80

Question Number : 51 Question Id : 3271673710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

. % 40 - 50
. % 50 - 60
2 & 60 - 70
4% 70 - 80

Question Number : 52 Question Id : 3271673711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The study of the structure of human body is:

Options:

, % Physiology
5 o Anatomy

s % Neurology
, » Histology



Question Number : 52 Question Id : 3271673711 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 53 Question Id : 3271673712 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The basic structural and functional unit of an organism is:

Options:

1 % Tissue
~ o Cell

- % Neuron
4 % DBone

Question Number : 53 Question Id : 3271673712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

Question Number : 54 Question Id : 3271673713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The cell’s hereditary units are called:

Options:
1 = DNA

o R ENA
3 « Genes

4 % Lysosome



Question Number : 54 Question Id : 3271673713 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

, » DNA
- % RNA
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Question Number : 55 Question Id : 3271673714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The largest organ of the body is:

Options:
1 % Brain
- % Stomach

5 % Lungs

4 « Skin

Question Number : 55 Question Id : 3271673714 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 56 Question Id : 3271673715 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The total number of bones present in human body is:

Options:
1 % 204

> « 206
5 % 207
4 % 211

Question Number : 56 Question Id : 3271673715 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



AT R F F T g A £
Options:
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Question Number : 57 Question Id : 3271673716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The largest gland of the human body is:

Options:
1 « Liver

- % Pancreas

- % Thymus

4 % Pineal Gland

Question Number : 57 Question Id : 3271673716 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 58 Question Id : 3271673717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The human heart has chambers.

Options:
1. % 3

> o 4
3 % 5
4. % 6

Question Number : 58 Question Id : 3271673717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 59 Question Id : 3271673718 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

is called as Voice box.
Options:
1 % Trachea

> % Pharynx

3 ¥ Larynx

4 % Auditory meatus

Question Number : 59 Question Id : 3271673718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 60 Question Id : 3271673719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The functional unit of kidney is:

Options:
1 ® Ureter

> % Urinary bladder
= % Renal cortex
4 « Nephron

Question Number : 60 Question Id : 3271673719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 61 Question Id : 3271673720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The Pacemaker of the Heart is:
Options:

1 % AV Node

> « S A Node

- » Purkinje fibers

, % Coronary sinus

Question Number : 61 Question Id : 3271673720 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 62 Question Id : 3271673721 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following glands secretes Growth Hormone?

Options:
1 # Pancreas

> w Kidney

-  Pituitary gland

, % Thyroid gland

Question Number : 62 Question Id : 3271673721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 63 Question Id : 3271673722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The blood cell responsible for coagulation of blood is:

Options:
1 % Red Blood Cells

- % White Blood Cells
3 « Platelets

, % Hemoglobin

Question Number : 63 Question Id : 3271673722 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 64 Question Id : 3271673723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The most abundant inorganic compound present in all living system is:

Options:
1 % Blood

- o Water
=z % Sodium

4 % Potassium

Question Number : 64 Question Id : 3271673723 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:




Question Number : 65 Question Id : 3271673724 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The colorless fluid that protects brain and spinal cord is:

Options:
, % Lymph
> % -Aqueous humor

-  Cerebrospinal fluid

4 % Serum

Question Number : 65 Question Id : 3271673724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 66 Question Id : 3271673725 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following organs is affected by Tuberculosis?

Options:
1w Lungs
> % Liver
= % Heart

4 % Stomach

Question Number : 66 Question Id : 3271673725 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 67 Question Id : 3271673726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
cell of pancreas secrete insulin.

Options:

, % Alpha

- « DBeta
= # Gamma
4 % Delta

Question Number : 67 Question Id : 3271673726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 68 Question Id : 3271673727 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The Cranial Nerve that conducts impulses for vision 1s:

Options:

1 % Oculomotor
> # Facial

5 Optic

4 % vagus

Question Number : 68 Question Id : 3271673727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 69 Question Id : 3271673728 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Example for a Neurotransmitter is:

Options:
1 « Noradrenaline

- % Insulin
T & Bile

4 % Cholesterol

Question Number : 69 Question Id : 3271673728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 70 Question Id : 3271673729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which part of the Brain controls the body posture and balance?

Options:
1 % Cerebrum

> « Cerebellum
=z % Medulla

4 % Thalamus

Question Number : 70 Question Id : 3271673729 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 71 Question Id : 3271673730 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

An increase in the Blood Pressure above the normal 15 called:
Options:

1w Hypertension

- » Hypotension

5 w Arrhythmia

4 # Asystole

Question Number : 71 Question Id : 3271673730 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 72 Question Id : 3271673731 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following is an abnormal constituent of urine?

Options:
1 ® Urea

- % Urlc acid
= « Ketone bodies

4 % Creatinine

Question Number : 72 Question Id : 3271673731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 73 Question Id : 3271673732 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Daily normal output of urine is:

Options:
1 « 1- 1.5 litre

> % 0.5-1 litre

s % 2 -2.5litre

| B

4 % 2.5-3 litre

Question Number : 73 Question Id : 3271673732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 74 Question Id : 3271673733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Urine is acidic after a

Options:
, % Low protein diet

-  High protein diet

- » Low fatty diet

, = High fatty diet

Question Number : 74 Question Id : 3271673733 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 75 Question Id : 3271673734 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
is the end product of protein metabolism.

Options:

1 % Ketone bodies
> % Bilirubin

= o Urea

4 % Glucose

Question Number : 75 Question Id : 3271673734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

Question Number : 76 Question Id : 3271673735 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Blood sugar can also be determined by method.

Options:

, = alkaline picrate
- « Benedict’s

-  Henry Caraway
4 » Jaffe’s

Question Number : 76 Question Id : 3271673735 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 77 Question Id : 3271673736 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Hormone secreted by Pituitary Gland is:

Options:

, % Thyroxine
5 % Estrogen

5 % Aldosterone

4 « Growth Hormone

Question Number : 77 Question Id : 3271673736 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 78 Question Id : 3271673737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
System consists of ductless glands.
Options:

1 ¥ Endocrine

- % Cardiovascular

5 % Nervous

, % Gastrointestinal

Question Number : 78 Question Id : 3271673737 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 79 Question Id : 3271673738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

is an autoimmune disease.
Options:
1« Typel Diabetes Mellitus

- w Hypertension

- % Type 2 Diabetes Mellitus

4, = Dengue fever

Note: For this question, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.

Question Number : 79 Question Id : 3271673738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Note: For thisquestion, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.

Question Number : 80 Question Id : 3271673739 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

ELISA test is used for the diagnosis of:
Options:
, % Migraine

- % Hepatitis
z % Diabetes
4 « AIDS

Question Number : 80 Question Id : 3271673739 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
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Options:
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Question Number : 81 Question Id : 3271673740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Hyponatremia is a condition of
Options:
, % Low potassium in blood

- % High potassium in blood

= « Low sodium in blood

, = High sodium in blood

Question Number : 81 Question Id : 3271673740 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 82 Question Id : 3271673741 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

is used for determining HIV infections.
Options:
1 « ELISA Test

- % Lepromin Skin Test

3 % Widal Test

4 % Mantoux Test

Question Number : 82 Question Id : 3271673741 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
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Question Number : 83 Question Id : 3271673742 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

is an organ located in the depression of the liver.
Options:
, w Parathyroid

> % Pituitary

=z % Gonads
4 « Gall bladder

Question Number : 83 Question Id : 3271673742 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

| SATSaE

Question Number : 84 Question Id : 3271673743 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The Liver does not perform one of the following functions.
Options:

1 % Metabolic

5 % Storage

5 % Excretory

4  Auditory



Question Number : 84 Question Id : 3271673743 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

| % HTEorR
2 % BN
g_aﬂﬁw
4 v HIfSH

Question Number : 85 Question Id : 3271673744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

is a Liver Function Test.
Options:
1 % Creatinine Clearance

- % Urea Clearance
3 « Icteric Index
4 ® ELISA

Question Number : 85 Question Id : 3271673744 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

oraT Fr FdeTHar F7 9T 2

Options:

| « BreRfw Remtw
zlwq\ﬁtrr "E

o v HTEEEE ey
4 % ELISA

Question Number : 86 Question Id : 3271673745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
is an enzyme secreted by the liver.

Options:
1 ¥ Transaminases

- % Proteases
- % Lipases

4 % Amylases



Question Number : 86 Question Id : 3271673745 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

| » TECASEd
g_am
3_&1%13!?@
4_&12"%?!1‘4'8'

Question Number : 87 Question Id : 3271673746 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which drug relieves pain and stress. accompanied by inducing
sleep?

Options:

, = Hypnotic Drugs

5 % Analgesics
= % Anesthetics
4 « Narcotics

Question Number : 87 Question Id : 3271673746 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
FleT O garsar A 3RT F gC, 911 v gaT @ Hid e g7

Options:

| % TReAfeE
o TATGTATHFH
5w HATEUTCHFH
4 AR cFT

Question Number : 88 Question Id : 3271673747 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is not a plasma protein?

Options:

1 % Albumin
> % Globulin
- u Fibrinogen
4 « Keratin



Question Number : 88 Question Id : 3271673747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
= 7 O 7 @ T corear 98T 747 82

Options:

m;ﬁha

4.»*%%7"’

Question Number : 89 Question Id : 3271673748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Purines and Pyrimidines are found in:

Options:
1 % DNA

o & RNA
z « Both DNA and RNA

4 # None

Question Number : 89 Question Id : 3271673748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
== i AffERT e § 9r o= 82
Options:

, » DNA
- % RNA

- » 2 DNA 3T RNA
L x O F FE

Question Number : 90 Question Id : 3271673749 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is an epimer of glucose?

Options:
1 « Galactose

> % Ribose
%z % Starch

, # Erythrose



Question Number : 90 Question Id : 3271673749 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T § ¥ F41 T # UF TR 87

Options:

| v S
> % TEa
3.@'&“&
4 % UTYTH

Question Number : 91 Question Id : 3271673750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Approximate amount of cholesterol excreted per day from the human body is:

Options:
1« 1gm

2gm
3gm
4egm

Question Number : 91 Question Id : 3271673750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
AT R ® 9fa @ fsemifaa @ areh @rereerer #1 seganfag A aar 82

Options:
1.« 1 A

oow 2?,31?4'

z ® 33.31?:
4 ® 4?.31?:

Question Number : 92 Question Id : 3271673751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following compounds is contained in tea?
Options:

, % Oxypurine

- « Theophylline

z % Theobromine

, % Hypoxanthine



Question Number : 92 Question Id : 3271673751 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

HFgegia
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Question Number : 93 Question Id : 3271673752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The product of complete digestion of proteins in the body is:

Options:

1 % Peptones

- % Peptides

3 « Amino acids
4 % Nucleic acids

Question Number : 93 Question Id : 3271673752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
T H ST & HYUT TATRAT FH 31 4T 87

Options:

1.&MFF|-

. » TEIFEH

. » UIFEr TfEEw
i =fFore TiasH

Question Number : 94 Question Id : 3271673753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The major carbohydrate present in milk is:
Options:

1 ® Sucrose

~ o Lactose
=z % Maltose

4 % Glucose



Question Number : 94 Question Id : 3271673753 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

REare)
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. & o

3_&m
TR

g . s

Question Number : 95 Question Id : 3271673754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following 1s NOT a B-complex vitamin?

Options:
1 % Thiamine

> % Niacin
3 % Folic acid

4 « Ascorbic acid

Question Number : 95 Question Id : 3271673754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
o/ § ¥ 1 ' B-FiFody Qafaa @ 82
Options:
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2_&%@7{
. Wi oS

4 Qﬁ‘ﬁ??ﬁg

Question Number : 96 Question Id : 3271673755 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘Which is the strongest chemical bond?

Options:
1 +« Covalent bond

- % Hydrophobic bond
= % Diester bond

4 % Electrostatic bond



Question Number : 96 Question Id : 3271673755 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

oY HEd THAA SU2 &I &7 27
Options:

| v PR SoE

, « ETEEIHIEF U5
5« STEEET AMUE

, » SORRRRE TvE

Question Number : 97 Question Id : 3271673756 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following tests are used to identify the presence of amino acids?

Options:
1 % Molisch’s test
> % Benedict’s test

5 w Fehling’s test

4  Ninhydrin test

Question Number : 97 Question Id : 3271673756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
vfHar ofdE & safsfa Fr ogae == %’qﬁmﬁﬁﬂﬁﬁmmqﬁw
BT Jrar 22

Options:

| % FTorer GIraToT
5 w SATSFS TLIETOT
- % WBTEGIT TT&ToT
, v Siegige TreTor

Question Number : 98 Question Id : 3271673757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is not a protein?

Options:
1 % Keratin

> u Collagen

-  Cephalin

4 % Elastin



Question Number : 98 Question Id : 3271673757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

, w TeRtfes
> % TRl
- Tkl
4 % IO

Question Number : 99 Question Id : 3271673758 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The site for protein synthesis inside the cell is:

Options:
,  Rough endoplasmic reticulum

- % Smooth endoplasmic reticulum

z % Nucleus

4 % Mitochondria

Question Number : 99 Question Id : 3271673758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
o 7 ¥ a1 SR & 38T 9T T=aT F:T TAT &7

Options:

td LY [t [ *
T T USICAIEHF {chaH)
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Question Number : 100 Question Id : 3271673759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Glucose is stored in the body as glycogen in which of the following organs?
Options:

, w» Kidney and Liver

- « Liver and Muscles

- » Kidney and Pancreas



4 % Muscle and Kidney

Question Number : 100 Question Id : 3271673759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 3271673760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The Reserve Bank of India (RBI) was formerly called as:

Options:
1 % National Bank Of India

- % Union Bank Of India
5 « Central Bank Of India

, » Imperial Bank Of India

Question Number : 101 Question Id : 3271673760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 102 Question Id : 3271673761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Normally B.C.G. vaccine is used for:

Options:
1 % Rabies

> « Tuberculosis
=z % Cancer
4 % Polio

Question Number : 102 Question 1d : 3271673761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 103 Question Id : 3271673762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
For producing sound. a CD audio player uses:

Options:
, w Quartz Crystal

- o Laser Beam

- % [litanium Crystal

4 % Barium Titanium Ceramic

Question Number : 103 Question Id : 3271673762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
eafe F 39 I & foT, T CD fEar R FT ITAT FIT £

Options:
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Question Number : 104 Question Id : 3271673763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Manav Seva Award has been instituted in the memory of:

Options:
. « Rajiv Gandhi

> % Dr.Rajendra Prasad
% % Indira Gandhi

4 # Jawaharlal Nehru

Question Number : 104 Question Id ;: 3271673763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

> % 31 USIg TG

L % STEELSTS Ag®

Question Number : 105 Question Id : 3271673764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Aryabhata — The first Indian satellite was launched from:

Options:
1 Palamor (U.K.)

- % Cape Kennedy (U.S.A)

5 % Sriharikotta (India)

4 w BearsLake (U.S.S.R)

Note: For this question, discrepancy isfound in question/answer . Full Marksis being awarded to all candidates.

Question Number : 105 Question Id : 3271673764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

| » TEEAR (UK)

., « F9 Fsr (US.A)
o % SENERET ()

, « 338 @ (US.SR)

Note: For this question, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

Question Number : 106 Question Id : 3271673765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The capital of Puducherry is:

Options:
1 % Karaikal
- % Mahie

5  Puducherry

4 % Yanam

Question Number : 106 Question Id : 3271673765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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- R J:ﬂ?,'
4 i

4 % TAA

Question Number : 107 Question Id : 3271673766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following is not matched correctly?

Options:
1 ® PTMINNXTPOA = PTMNNXTPOA

- # 5078766317 = 5678766517
= « CAG682XP190 = CA682X9190
4 #® T63X176891 = T768X176891

L

Question Number : 107 Question Id : 3271673766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

1 ® PTMNNXTPOA = PTMNNXTPOA
- % 5678766817 = 5678766817

z « CAB82XP190 = CAB82X9190

4 % 768X176891 = 768X176891

Question Number : 108 Question Id : 3271673767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

1/2 of 4/7 of 5/7 of number is 50. What is the number?
Options:

;% 254

5 o 245

z % 300

4 % 250

Question Number : 108 Question Id ;: 3271673767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T TET & 5/7 & 4/7 F 1/2, 50 | 98 TEAT F4T 27

Options:

| % 254
. v 245
- = 300
L % 250

Question Number : 109 Question Id : 3271673768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

On 100 February 1995 it was Friday. The day of the week on 10t February 1994 was:
Options:
, » Saturday

> % Sunday
-  Thursday

4 w Friday

Question Number : 109 Question Id : 3271673768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 110 Question Id : 3271673769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Arrange the following in meaningful order.

I. BOOK II.PAPER III. PEN IV.LIBRARY V.AUTHOR

Options:
| ¢ VILILLIV
o % V.V, IILIL I

;2 « OLLILV.IV
% VILILLIV

Note: For thisquestion, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.

Question Number : 110 Question Id : 3271673769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

e &1 I F7 #7 cgareyd &4
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Options:

TR

- u IV, Y, L

5 = M, L 1LV, IV

4 % Vo UL AL LIV

Note: For this question, discrepancy isfound in question/answer. Full Marksis being awarded to all candidates.

Question Number : 111 Question Id : 3271673770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the odd one out:
Options:

1 % And

oow If
3 « NOW

4 % BY

Question Number : 111 Question Id : 3271673770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25

e 7 Rwsa fr sg=a #:1
Options:
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Question Number : 112 Question Id : 3271673771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Insert the missing number:

(18] -
ih
\
o o Z:
B

125

Options:
1.« 49

o W 64
o W 25
4 #® 27

Question Number : 112 Question Id ;: 3271673771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
HATT TE&IT &1

Options:
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I ® 25
4 ® 27

Question Number : 113 Question Id : 3271673772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Complete the series with suitable number:
729Z. 512Y, 343X, 216W,

Options:

1 ® 136R

> % 182T
5 o 125V
4 % 64P

Question Number : 113 Question Id : 3271673772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
39YFT HEIT & | el H T FL
7292, 512Y, 343X, 216W, ?

Options:

% 136R
, % 182T
3« 125V
. % B4P

Question Number : 114 Question Id : 3271673773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Calculate the average of the cubes of first seven natural numbers.

Options:
1 % 121

> % 122
3 % 120
i 112

Question Number : 114 Question Id : 3271673773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
TUH T Whide AEITHT F "AT & AEd H 0 F

Options:

% 121
% 122




s % 120
oo 12

Question Number : 115 Question Id : 3271673774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Two numbers are in the ratio of 3 : 4. If 5 is added to both the numbers. the ratio
becomes 4 : 5. Find the greater number.

Options:
1. ¢ 20
o W 10

o 15

4

Question Number : 115 Question Id : 3271673774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
ar WEAC 3 1 4 F I9a H 21 T = wEanst 7 5 S G =,
A T I 4 : 5 g ST g1 FHA W T WEAT AT H

Options:

1. ¢ 20
- % 10
z % 15
4 % 25

Question Number : 116 Question Id : 3271673775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The present age of father is three times the sum of the ages of his two daughters. After 5

years hence, his age will be double the sum of their ages. The present age of the father is:
Options:
1% 54 years

> R

5 45 years

4 % 53 years

Question Number : 116 Question Id : 3271673775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

, % 54 IY
5 % 35 a¥
5 v 45 T
4 % 53 ¥

Question Number : 117 Question Id : 3271673776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The equivalent discount to consecutive discounts of 15% and 20% will be:

Options:
1 % 35%

> % 36%
5 o 32%
4 % 30%

Question Number : 117 Question Id : 3271673776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
15% 3R 20% & SR Tl & sa BT gre|

Options:

, % 35%
> % 36%
2 ¢ 32%
4 % 30%

Question Number : 118 Question Id : 3271673777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Rajesh invested an amount of Rs 12050 at simple interest. He got an amount of Rs 13496
at the end of 2 years. At what rate of interest did he invest?

Options:
. % 6.5% per annum

5 of 6% per annum
5 % 8% per annum

4 % 8.3% per annum

Question Number : 118 Question Id : 3271673777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

| % 6.5% 9fF aw
5 v 6% 9T 3§
s % 8% 9fF a¥
4 % 85% 9fa I¥

Question Number : 119 Question Id : 3271673778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In a hostel having 60 students. an addition of 5 members increases the gross
monthly expenditure by Rs 45 but diminishes the average cost per head by Rs 5.
What did the total monthly expenses (in Rs) originally amount to?

Options:
;. % 4500

5> 4440
3 & 4700
4 % 4044

Question Number : 119 Question Id : 3271673778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

60 STH & TH gEee A, 5 HEHAT & 3 § Afds T A & 45 #r
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Options:

. % 4500
- & 4440
- = 4700
. % 4044

Question Number : 120 Question Id : 3271673779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
If A is the brother of X: B is X s brother and A is brother of Y. then which of the
following statements is definitely true?

Options:
1 % Xis B’s brother

> % X1 Y'’s brother

= « A1s B’s brother



4 % Y is A's brother

Question Number : 120 Question Id : 3271673779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
 x X, BF S®E
o x X YFAEE
.o ABFEE
L Y, AT AEE

Question Number : 121 Question Id : 3271673780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If ACTION is coded as ZXGRLM., then how will you write ‘BOOKING’?

Options:

{ % YLLRPMT
> % YRLLPMT
s « YLLPRMT
4 % YPLLRMT

Question Number : 121 Question Id : 3271673780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

IfEg ACTION T FIT ZXGRLM § ar ‘BOOKING’ &FT 3T &FF T ¥ =7
Options:

1 ® YLLRPMT
> % YRLLPMT
z « YLLPRMT
4 % YPLLRMT

Question Number : 122 Question Id ;: 3271673781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

P.Q.R.S and T are sitting on a bench in a park. P is sitting next to Q. R is sitting next to S,
S is not sitting with T who is on the left end of the bench. R is on the second position from
the right. P is on the right of Q and T. P and R are sitting together. In which position is P
sitting?

Options:

1 % betweenRand T



o w between Qand S

-  between Q and R

4 % between T and S

Question Number : 122 Question Id : 3271673781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

PQR SHNTF IF A THF T WSS TP, QF T HF I3, R, S
FTEAT AL S, THFAT A dorga FaaFavarfraw g R
T AT A RISTLIP, QAR T F e s dar g1 P AR R AT A
43 &1 P &g Tu= WY ST 27

Options:

 « RARTFda A
.« QiITSFIT A
v QIRRFITH
e TR SHF A

Question Number : 123 Question Id : 3271673782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Origami : Paper : : Ikebana : 7
Options:

1 « Flower

- % Thermacoal
3z % Glass

4 % Paper

Question Number : 123 Question Id ;: 3271673782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

NTETE : FETT - SHEEAT ; ?
Options:

Lo W

2_&2@@?{

3 ® T
4 % ETA

Question Number : 124 Question Id : 3271673783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Mithran earns more than Sharma and less than Dinesh. Vishnu earns more than Mithran
and Dinesh. Sibi earns more than only Sharma. Who earns the least among the five?
Options:

1 % Vishnu
> « Sharma
= % Mithran

4 % Sibi

Question Number : 124 Question Id : 3271673783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

fry=, o @ 30 A oo @ #7 Faar 81 ey, @y ok e @
HEF FAET g1 TEr Faa 07T T HOF FAET g1 =7 9= F TG FH HiA
FATAT 72

Options:

IELY)

1. = 2

> v UAT
2 R ﬁ'ﬁlﬂ'
4 ® W

Question Number : 125 Question Id : 3271673784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
How many times in a day do the minute and hour hands of a clock point in the same
direction?
Options:
1. %

L]
| ]

|
|

= o

I~
La

z %

Question Number : 125 Question Id : 3271673784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
vk fodt H, ve ud & e 3 g i g ve & feer 7 faaelr aw el

Options:

; & 32
o o 22
z % 24
4 % 44




